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This paper consists of five (5) questions. Answer all the questions.

Instructions

Marks for each question or part thereof are indicated beside the question.

%

Calculators and cellular phones are not allowed in the examination room.
i

Write your Examination Number on every page of your answer booklet(s).
4.

5. Use T = 314
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Suggest one precaution when taking reading of the instruments in 1 (a) (i) — (iii).

(b)
(0.5 mark)
(c)  Draw warning sign for danger of electric shock and radioactive substances.
(1 mark)
(2.5 marks)

(d)  Mention five vital safety measures in a physics laboratory.

Pa
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ain experiment, Myga bal .
n? cﬁa mass M of magnitude | Ooa“CCS a uniform |;
, whct“ E is 40cm from A,

Pgl“ " lustrate this informatjgp

: ght metre rul '
ok ¢ AB at its centre C.
815 hung a1 p 10cm from the end A, the new balance

b .
®  write the equation of the Y a diagram

2 and the distances EC anq &y of the metre ryle in terms o

sing the real values
© KB. ! BC.ED and M, determine the mass of zﬁimﬂe
Name and state the principle (1.5 marks
o : Ple governing this exper ks
© State any tWO sources of error ip thjg experime?:.n e g mar::-;»)
mar

an experiment to determine the specific h

’ Ollected!
as5 Of metal M, = 50g

ass of calorimeter M. = 80g
S of calorimeter with water — 140.5¢
pitial temperature of water 9, = 149
cinal temperature of water 6, =19°C
Temperature of hot metal 6 = 100°C
specific heat capac@ty of water C,, = 4.2J/gK
SpeCiﬁC heat capacity of calorimeter Ce=0.4)/gK

e :
at capacity, c,,; the following data were

(@ Determine the mass of water M,

) ~ Compute the heat gained by water. (1 mark)
()  Find the heat gained by calorimeter, (1 mark)
d) Calculate the heat lost by metal in terms of its specific heat Capacity( tmark)

i i . ; 15
L :ljlznr]r%eglle appropriate heat equation, calculate the specific heat ca(paci:];a(gksz)f
. m
()  State any source of error in this experiment, g-fn l:z;:')ks)
(g) ~ State two precautions you would take in carrvi ; : .
ying out this
more accurate value for the specific heat capaciti_ experlme?; trc:1 ::lilsj)re a

In an experiment to determine the relationshi

stripg z}nd its frequency when the length of the string is kept constant, its diametre was
varied in order to tune the string to a series of tuning forks.

The results for frequency and diametre were recorded as follows:

P between the diameter of a vibrating

Table 1
Frequency of fork, f (Hz) 100 200 270 380 475
Diameter of string, d (cm) 083 1042 |031 022 10.18

Reciprocal of diameter ! (cm™)

(@  Complete Table 1. (2.5 marks)

(b)  Plot the graph of frequency, f, against % . (3 marks)

() What is the nature of the graph? (1 mark)
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(d)  Find the slope of the graph.

(¢)  What is the physical meaning of the slope obtained in 4 (d)? (
H State the relationship between the frequency of the Vibrationg (1
and

of the string. the 4 V
()  State a source of error in this experiment. (1 .,,::M
05 ,,"
In an experiment to determine the resistance per metre,o , of a p; '
. ) : Riven con
the following results were obtained: tap
Iy
Table 2 7
Length of wire, XTi Balance Icng'th.“ 1.] 2 :
(cm) | %107 (cm) / ')
] .
oo | 24.50
(80 29.20
(60 13560 |
40 14600
120 . | 63.00
(a) Complete Table 2. a
n ‘.'5 M i
(b) Plot the graph of X against — ‘
| ! (3 mary,
(c) Determine the slope, S, of the graph.
(d)  Find the X intercept. ': =
Y Ve . - - - H \ )
(e) gakul.nc the resistance per unit square metre, o , of the w Ire given th 'T“d
2 a+2 T
Iﬂ T o4 7 ‘:-5 M\-
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